Exercise 2.4A

1 The three terms
along each diagonal
must add to give
the same expression.

Complete the grid.

2 The three terms

; =0 +
along each side x+1 £ 1
multiply to give 12x.
A +1 s
Complete the grid. e 1>
x+1
2x

3 Complete this multiplication pyramid.

2-6
3x+15
x—3
4

x—3 4
x+5 x—3

o x + 4

4 A linear sequence has first term =3— and

x+5
second term = —.

Find the next term in the sequence.

1 1 1
5 Show that 77 @iy and 75 are

the first three terms of a linear sequence.

6 Amelia has tried to calculate
2 3 6 5
x—3_x+Sandx+4+x—2‘
Both of her answers are wrong.
Correct Amelia’s mistakes and find the
correct answers.

2 3 _2x+5) =3=x-23
x—=3 x+5 (x-3)&x+5

_ 2+ 10-3x-9
T T a-3)&+5)

1—-2

T G-3x+5

__6x—2+5x+20
(x+ 4~ 2

11z +18
T+ -2)

7 Here is a rectangle. 5

pt1

a Find an expression
for the perimeter 3
of the rectangle. P—2

b  Explain why p must be greater than —1.

Explain why p cannot equal 2.

+1 7-x 60°

T 60°

The perimeter of the parallelogram is equal
to the perimeter of the triangle.

Show that the unknown side of the triangle
30
has length 57 ==

9 The large rectangle is an enlargement
of the smaller rectangle. Find the length of

the missing side. 30
x=1
x—1
= x+4
= 5
?

10 Nina starts with a rectangle.

2
5+x+3

i iy
x+3

Nina joins four rectangles
together to make this
composite shape. Show that the perimeter

.y . 8(5x + 18)
of Nina's shape is =5

S—

11 Find the mean of these three numbers.

x—1 x2x+2 2
12 6 4
12 a Show that
3x+ 6 %2 5x — 15 x+4
ol R0 . =
b Fill in the blanks to make the
equation correct.
O ><6—3\75)(37(:-*-15;6x+30=l
6x—3 2x+ 8 ] T 2x—1
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The three terms

along each diagonal 2
must add to give <+ & + 35
the same expression. X x -6 X
Complete the grid. 2 (ot —6) s + S'(X-——G)
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t= 27 -2 +4& x +§x —-30
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c [|>x - 42 — ax _3(9(—6)
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- > - 24 4 (x-6) - 4
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The three terms p o 12> — L — f
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3 Complete this multiplication pyramid. 5 =3 - >C __Z
37:;165 + ) 23 S
x—3 @4
4 x S
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